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1.

The sum total of weather conditions and
variations over a large area for a long
period of time is called

(A) Weather (B) Climate
(C) Hot weather (D) Cold weather

What are the elements of the secondary
diagonal of the matrix

M:

W N A

4 7
5 8
6 9

(A) 7,5,3
(C) 4,5,6

(B) 1,5,9

(D) 2,5,8
Who among the following introduced
local Self-Government in India ?

(A) Lord Canning

(B) Lord Rippon

(C) Raja Ram Mohan Roy

(D) Lord Mountbatten

The most abundant gaseous element in
the atmosphere is

(A) Nitrogen (B) Fluorine

(C) Hydrogen (D) Chlorine
Which of the following river forms the
border between Haryana and

Uttar Pradesh ?

(A) Saraswati (B) Ghaggar
(C) Yamuna (D) Sahibi

The ratio between the volumes of two
spheres is 27 : 8. What is the ratio
between their surface areas ?

(A) 9:4 (B) 6:4

(C) 3:2 (D) None of these

. U T Y3 o ol 3rafyy of) dey aififiat

3R 3T FTATS & Fed SIS 1 FEgd &

(A) WEm (B) Ay
(C) 3% qrEm (D) fta dEm
. Bfesm & s-fyef ek w2 ?

1 4 7
M=|2 5 8

3 6 9
(A) 7,53 (B) 1,5,9
(C) 4,5,6 (D) 2,5,8
= % o O forem s o T -
&g foram ?
(A) e Hfm
(B) wiE G
(C) T TH Hied T
(D) e HI3esie
SIAYSH § TEd Tt AT | 1T STTEre
et Yot @
(A) TTEENH (B) T
(C) 8I?JC§IG|:I (D) FANE
fafafaa 9 9 i 9 i@ wik
3T o HEY 91 ST & 7
(A) |&dl (B) TR
(C) =g (D) Hrfest

T A F TAA H AT 27 : 8 B I
TR &G o 1 ST ST AT ?

(A) 9:4 (B) 6:4
(C) 3:2 (D) =99 g IE T



7. Which of the following climatic controls is

10.

1.

12.

13.

the most important ?

(A) Latitude

(B) Altitude

(C) Pressure and wind system
(D) Continentality

Elections for the post of the President of
India takes place after every

(A) General election of the parliament
(B) Four years
(C) Five years

(D) Six years

What is the total number of seats in
Lok Sabha from Haryana ?

(A) 10 (B 7

(C) 8 (D) 12

The Geometric mean between 7 and 28
is

(A 11 (B) 12

(C) 13 (D) 14

Capital of Afghanistan is

(A) Kabul (B) Kandahar

(C) Herat (D) None of these
Energy in the water stored in a dam is

(A) Kinetic energy (B) Potential energy|
(C) Practical energy (D) None of these

How much should a man invest in ¥ 50
shares selling at ¥ 60 to obtain an
annual income of ¥ 900 if the dividend
declared is 15% ?

(A) T 9,000
(B) ¥ 7,500
(C) 7,200
(D) None of these
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= T & i Say-faws friE s
e § 7

(A) staw

(B) I

(C) 3@ 3R a1y ygfa

(D) wHeTdIdan

WA o TNIfd 1 Tl 8T &

(A) TS % W GG & o1E

(B) 91 @A w1e

(C) uiwr |t &1

(D) BT 9 91g

BRATON o SATFHT Het il e fobertt
TR 7

(A) 10 B) 7

(C) 8 (D) 12

7 3R 28 % fie o snfufaes Arer @
(A) 11 (B) 12

(C) 13 (D) 14
N it T 2

(A) =ge (B) *IER
(C) ¥@ (D) T & =
Sty & gufed ot § el gt @

(A) i it (B) feurfa wt
(C) YR 3= (D) T8 @ i T

¥ 50 ATAT IRA S T 60 W ST 14T R, e
a3 0 W AT AWt ¥ 900 2w
T AT 15% 2 7

(A) ¥ 9,000

(B) % 7,500

(C) 7,200
(

D) 3 & i TE
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14.

15.

16.

17.

18.

19.

20.

Abhinav Bindra, who won gold in 2008
Beijing Olympics, is associated with
(A) Boxing (B) Swimming
(C) Weight lifting (D) Shooting

What is the name of the garden situated
in Pinjore ?

(A) Yadavendra Garden

(B) Karna LLake Garden

(C) Rose Garden

(D) Sultanpur

Which of the following is called ‘Sunshine
Vitamin’ ?

(A) Vitamin A
(C) Vitamin C

(B) Vitamin B

(D) Vitamin D
FFind the compound interest on ¥ 5,000
for

2 years at 10%.

(A) % 1,000 (B) ¥ 1,500

(C) 1,050 (D) None of these
‘Children’s Day’ is observed on

(A) Jan. 30 (B) Oct. 2

(C) Jan. 26 (D) Nov. 14

Who invented penicillin ?
(A) Alexander Fleming
(B) Louis Pasteur

(C) Dreser

(D) Edward Jenner

Which holy place has the same
importance as Gaya for performing post
death rituals of Ancestors ?

(A) Pehwa

(B) Asthal Bohar

(C) Kurukshetra

(D) Kameshwar

14.

15.

16.
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20.

el 2008 = sffsrr snferfies § gaof waw
URaTS Afe e T A O gt @

(A) Herhasit (B) R
(C) o= 3o (D) i

iR R A s Rram R ?
(A) ATEEE TEA

(B) Ul ek e

(C) TS e

(D) Yeam g

T o 3 fora oo foerfi sea € 7
(A) fefim T (B) Toerfm <t
(C) foarfum =t (D) Retfm

10% SIS R ¥ 5,000 W A 8T &7 <kl
ST B

(A) % 1,000 (B) T 1,500
(C) % 1,050 (D) 39 9 =S Tt
‘et feme’ 58 & wmEn S @

(A) 30 St (B) 2 ¥
(C) 26 =l (D) 14 TR
ufafref = snfossr forem fomam ?

(A) STAHINS AT (B) EH I
(C) 3= (D) TEsE S+
et & 2mg = forw man S wew form e
&I fen ST ® 7

(A) Uea

(B) 3TEIA e

(C) FEe

(D) HHIHR



21.

22,

23.

24.

25.

26.

A man bought 500 shares of face value
of ¥10 and during the first year after
purchase receives T 400 as dividend on
his shares. Find the rate of dividend on
his shares.

(A) 8%
(C) 10%

(B) 12%

(D) 15%

Major harmful gas emitted by automobile
vehicles which causes air pollution is

(A) Carbon monoxide

(B) Methane

(C) Carbon dioxide

(D) Ozone gas

Hypertension is the term used for
(A) Increase in heart rate

(B) Decrease in heart rate

(C) Decrease in blood pressure
(D) Increase in blood pressure

What is the meaning of the Haryanvi
idiom ‘Chilam Bharna’ ?

(A) To keep ready Hookah

(B) Taking advantage from children
(C) Sweet talk

(D) Doing good work

The sum of the first ‘n’ natural numbers is
496. Find 'n’.

(A) 30
(€) 31

A light-year is a unit of
(A) Time (B) Distance
(C) Velocity (D) Energy
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Teh safad 310 3ifehd Ted & 500 YRR @liear
2 3R wlied & 918 wF 9% H ety ¥ @
3400 37 T T ATHIR ITd BT ] 37
TR I & AT

(A) 8% (B) 12%

(C) 10% (D) 15%

1Y IGNT T HRU IHATAT HRI o gRT Iedrsid
9@ 9 BT ®

(A) wTEA NS

(B) fwer

(C) whrelA T3 TS

(D) 3T T

3= T W FEd B
(A) TEEfd ¥ weE
(B) wea nifg o e}
(C) = # i
(D) Y=Y ® dET
Biamre gere e awon’ w6 @
AR ?

(A) TFHI dIR T@
(B) S== | T T
(C) @vmwe &t
(D) 3T=E HM FAT

IfE g8 ‘n’ Gfites 3kt 1 I 496 R 4,
‘n?

(A) 30 (B) 32
(C) 31 (D) 33
TeRTST-aY THehT TS 2

(A) T (B) &
(C) am (D) =il
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27. Where Haryana's first military school is

28.

29.

30.

31.

32.

33.

established ?
(A) Kunjpura

(B) Manesar
(C) Hisar
(D) Madhuban
4 5 9
H.C. F. of 58 and 70 s
1 5
A) — B) —
(A) 5 (B) %
9 1
© 15 D) 35
The view that the state is a necessary

evil is associated with
(A) Individualists (B) Anarchists
(C) Marxists (D) Sophists

The Vice President of India is elected by
(A) Members of Lok Sabha
(B) Members of Rajya Sabha

(C) Members of both Houses of
Parliament

(D) Members of all State Legislation

In Haryana, ‘Twisted Bread (Roti Ka
Mudh Jana)' is the sign of which of the
following ?

(A) Arrival of rain

(B) Going out from home

(C) Purchase of animal

(D) Arrival of guest at home

49 21

2 36
(A) 84 (B) 12
(C) 64 (D) 144

The statement that the state is an ethical

-6

27.

28.

29.

30.

31.

32.

BTN 1 W gl Bk et et
TTfi ga ?
(A) P
(B) HIHER
(C) feum
(D) AYeA
£, 8 o 2w wes @
1 5
(A) 5 (B) 2%
9 1
© =5 ©) 36
T Teh AT G003 ¢, I8 0d T8 grafeeia &
(A) =afFmas (B) 3WISIhare
(C) uredar: (D) Fashi
A % IYSGUTT 3T 39k FIRT THT SITaT ©

(A) T AN T

(B) TS O e

(C) w6E & It Tt % wawd
(D) |l TS & T Aves & ga&q

R § U 1 g I foRw w1
qaH e !

(A) STETT 3T 1

(B) =R T YA FHH H

(C) w1 &l =

(D) FEA™ W H 1A

\/@ 21
? 36
(A) 84
(C) 64

(B) 12
(D) 144



34.

35.

36.

37.

38.

institution which is indispensable for the
full moral development of man is
attributed to

(A) Individualists
(C) Idealists

(B) Anarchists
(D) Marxists

If Xand Y are brothers, Z is sister of X, P
is brother of Q, Q is daughter of Y, how

is X related to P ?
(A) Father (B) Uncle
(C) Brother (D) Grand Father

Which of the following is the Haryana's
largest sacred pond, made up of paved
from all around ?

(A) Falgu Sarovar
(B) Brahma Sarovar
(C) Kapal Mochan
(D) Sannihit Sarovar

After Jeevan gave Rs. 12 to Hamid and
Hamid gave Rs. 4 to Jeevan, both had
equal amounts with them. Who had the
smaller amount initially and by how
much ?

(A) Hameed by Rs. 16
(B) Jeevan by Rs. 4
(C) Hameed by Rs. 12
(D) Jeevan by Rs. 8

A man is facing south. He turns 135° in
the anticlockwise direction and then
180° in the clockwise direction. The
direction he is facing now is

(A) North-East (B) North-West

(C) South-East (D) South-West

Which of the following district's border of
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I8 T S FEAT § TSI Uk ek T & S
w7t Aferew fash % e s 2, ==
TR AR A 3901 &

(A) fFRTH (B) STISIhatel

(C) stevtar (D) wrEaTE

e XFRY TEE, ZmRXFaAE, PIRQ

FARE, QI Y FIIARA, XHTP AT
ATy ?

(A) foar (B) =mem

(C) wrg (D) ==

BT 1 T e, = o & g
ST BHT ol TS h |1 2 ?

(A) ] TR

(B) &R TR

(C) huTet HIeH

(D) wf=ifga wdet

9 TG 1 Sfte 12 %. 241 8 3 Sfiam &t
BHIE 4 %, A1 8, da Q11 o ITH Toh GHT e
T3 STt 8| I § forgeh Ur Sy e off 37k
ferat | off ?

(A) THEFaHs. 169

(B) STeA % UE 3. 49

(C) sl U= 129

(D) AT HaET. 89

T HATeHT 2feror 1 oIk Afirg@ ® | 98 amred
foem & 135° ear @ 3 R 180° eferomad
fewm e | o1 =% o fom & i 2,
EiEE

(A) S-7d
(C) wfaror-gd

(B) IW-ufyw
(D) =ferur—ufeem
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39.

40.

41.

42.

43.

Haryana is not touching the bank of
Yamuna River ?

(A) Panipat

(B) Rohtak

(C) Yamuna Nagar

(D) Sonipat

According to Aristotle

(A) State is a divine institution
(B) State is an artificial creation
(C) State is a creation of force
(D) State is natural institution

92 +8+2="7
(A) 5.25 (B) 4.25
(C) 5.75 (D) 4.75

The term ‘city state’ is generally
associated with

(A) Ancient Egypt
(B) Ancient Greece
(C) Ancient China
(D) None of the three

Expansion of IAS is

(A) Indian Administrative Service
(B) Indian Administration Service
(C) Indian Administrator's Service
(D) Indian Admiration Service

If all the numbers from 501 to 599 are
written, what is the total number of times
does the digit 6 appear ?

(A) 11 (B) 12
(C) 20 (D) None of these

Sonipat city is famous for which industry ?
(A) Cement

-8-
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39.

40.

41.

42.

43.

TG 7 & T, BEn ¥ Prafafed § @
forer foret =Y i =&t et ?

(A) 9T

(B) trgaw

(C) IGIA

(D) =iy

JfEied o JIgaR
(A) TST T S99 e &

(B) T TH FhW gl ?

(C) U A g g

(D) TS U TTHTI HEAT B
92 + 8+2="7
(A) 5.25

(C) 5.75

(B) 4.25
(D) 4.75

TR TS’ % I7o2 0TI 308 T
(A) yEFshw  (B) =i
(C) =i = (D) i | =is 7

AR T T, 1l w2

(A) zfemm cietafreeda wida

(B) 3femm sfefufeem ufdn

(C) sfewm sicfufreied ufdw

(D) 3fezm SFefinmm afdw

Ifs 501 ¥ 599 T fort St & Y, foperdt

SR 6 T Ik fa@ms m 7
(A) 11 (B) 12
(C) 20 (D) T ¥ F1S 4



45,

46.

47.

48.

49,

50.

(B) Bicycle
(C) Cotton clothes
(D) Car

Using the digits 3, 2, 5, 6, 9, how many
three digit even numbers can be made
without repetition ?
(A) 10
(C) 60

(B) 24
(D) None of these

Srinivas Ramanujan was a great
(A) Lawyer

(B) Mathematician

(C) Medical practioner

(D) Film star

Metro first reached in which city of
Haryana ?

(A) Gurgaon
(C) Faridabad

(B) Sonipat
(D) Rohtak

At which place did Lord Krishna preach
the message of Geeta to Arjun ?

(A) Panipat

(B) Jyotisar (Kurukshetra)

(C) Pandu Pindara

(D) Kapisthal

In which climate zone is rainfall low,
highly variable and undependable ?

(A) Mid latitude western continental
margin

Tropical

Humid mid-latitude

Polar

CIGIC:

Kurukshetra's Sthaneshwar temple was
rebuilt by whom ?
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T TR forg 3 & P ufrg & 7
(A) Rm=

(B) WiEHet

(C) Felt o

(D) =R

3,2, 5,6, 9% 3TN AL I Frat
AT 37! aTel T SR TS S T R 7
(A) 10 (B) 24

(C) 60 (D) 3 @ H1S T
AT THIISH T Te™ o |
(A) T

(B) witaw

(C) =tax

(D) fhem i@

BRETON % ford STeR # A3 el ugel
Tt ?

(A) T (B) drfiad

(C) wiiemse (D) Ugds

A T 3 T 13U forg v W
39| ot femm 7

(A) THYa

(B) waifaer (Foar)

(C) g faerm

(D) hfuEet

FIE JaTg Feaw | i 9, fd AfeR
IR rfovaafim ardi 2 ?

(A) wea srerwr afvart wETEdt A
(B) Iwrehfearef}

(C) TS HeT- ey

(D) gefm
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51.

52.

53.

55.

(A) By Raja Harshawardhan

(B) By Maratha Sadashiv Rao
(C) By Prabhakar Wardhan
(D) By Chandragupt Vikramaditya

Which of the following female
mountaineer has conquered Mount

Everest twice ?
(A) Malleshwari
(B) Santosh Yadav
(C) Mamata Kharab

(D) Sunita Sharma

Which type of climate classification
scheme uses vegetation patterns as a
prominent feature ?

(A) Tropical
(C) McClatchy

(B) Koppen
(D) Maxfield

Which of the following religious and
historical place is located in Lakhan
Majra village ?

(A) Saint Meershah Majar

(B) Manjisahib Gurudwara

(C) Shekh Nizzamudin Majar

(D) Suryakund

Which city is famous as the “City of
Weavers” ?

(A) Karnal

(B) Ambala

(C) Yamuna Nagar
(D) Panipat

Concept of permanent consumption was
introduced by

(A) Samuelson (B) Simon Kuznets
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50.

51.

52

53.

54.

FE o TIHYER Af=2 1 gafaior
ﬁtri%ﬁaaﬁ@ﬁmﬁammmw?
(A) TSI gYaeH g

(B) WRIST WRTRF A FRI

(C) TRt I g

(D) =T fashaTieer g

Tizan gdaE fSem &) aR A1eve tawe
fostasft v 6 ?

(A) Toorvadl

(B) w=I¥ ATed

(C) wHaT &

(D) grfrar vt

fore TR ot ety ifeRtor 2t Sy
Y I TG UH o &Y § UGN FA R 7
(A) IR (B) ==

(C) Wependl (D) HFahics
AT /IS i | e i
Ve T R 7

(A) Hd HRITE ASR

(B) WfaTEd THERT

(C) @ fAemgEa 7o

(D) e

R T R o w9 H i TR
foreama 8 7

(A) FA

(B) T

(C) I TR

(D) urad



56.

57.

58.

59.

60.

61.

62.

63.

(C) Milton Friedman(D)Harrod

National Milk Production Research
Institute is located in which of the
following city ?
(A) Panipat
(C) Karnal

(B) Yamunanagar
(D) Faridabad

Haryana's first university was established
in which city ?

(A) Kurukshetra

(B) Karnal

(C) Rohtak

(D) Murthal

Speenlative demand for money is
inversely related to

(A) Rate of interest(B) Income
(C) Money supply (D) Investment

Bhagavad Gita is included in the Indian
epic

(A) Ramayana (B) Mahabharata
(C) Brihadayana (D) None of these
In which city Kanod'’s fort is situated ?

(A) Narnaul (B) Mahendragarh
(C) Thanesar (D) Hansi

Which is the least literate district in
Haryana ?

(A) Rewari
(C) Mewat

(B) Mahendragarh
(D) Bhiwani

In Cobb-Donglas production function
elasticity of factor substitution is equal to
(A) Zero (B) Infinity

(C) One (D) Two

Sultanpur Bird Sanctuary is located in
which district of Haryana ?
(A) Gurgaon (B) Rohtak

(C) Panchkula (D) Faridabad
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Tt SUHTT o6} TR S0 S o1

(A) ¥ReE  (B) W FwveH
(C) fuceq wigemy (D) s

T fere ?

(A) gTaq (B) IHATTR

(C) =™ (D) HeETE
g ¥ vy fvafarney fag R &
wTfie gt ?

(A) Foa

(B) htATd

(C) Ugd®

(D) 7w

UQ <t aAffraa win 56 vfaeiva: gt @
(A) IS X (B) M=

(C) WH s (D) few

T % §9 HETehIsT H TITagridT sl GUTaw &
(A) THTRIOT (B) wWET9RA

(C) e (D) H W I
HIAIS 1 foherT forg T d fdra @ 7

(A) T (B) We=Tg

(C) IME (D) =Teh

SREATON T TeT™ A 1T STAT T9reT
FETE ?

(A) W (B) We=TTe

(C) Wama (D) ferart

- oh 3T F1E H HITH T sl
REINIRE R ERC I C IR

(A) IIF (B) 3=

(C) T (D) @
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64. Space Scientist Kalpana Chawla was 63. Geamyt vl forer s % forg forey

born in which city ? g7
(A) Panipat (B) Karnal (A) T (B) Uga®
(C) Kaithal (D) Gurgaon (C) U=iFel (D) wiErETE

65. “If an oligopolist decreases his price the 64. eI AT FHUT ST F1 S Fhg
rivals will follow”. This is the basis

. TRH gar ?
assumption of
_ (A) UHTgd (B) wHETHA
(A) The kinked supply curve o) & -
(B) The oligopolistic demand curve (C) = D) T
(C) The kinked demand curve 65. “3fe Tk TeuTerepTR 39T T Y o AT @
(D) The demand curve Al 3qe et oft 3 s 7 | e sEeh gw
YT B
Directions (Qs. 66-68) : Choose the (A) U1 g TR o
alternative which does not belong to the group (B) Feuriem Wi 5%

to which the other three belong. ©) ﬁa‘rgamﬁww

66. (A) Arjuna (B) Bheema (D) | aH

(C) Sahadeva (D) Duryodhana

e (w. 3. 66 & 68) : WHT ke YR W v

67. (A) 20 (B) 19 . )

(©) 18 (D) 16 et o g | wrafod e R |
68. (A) Chlorine (B) Oxygen 66. (A) 17 (B) =

(C) Iron (D) Hydrogen (C) wed (D) gt
69. The first thing that primitive man learnt| 67. (A) 20 (8) 19

was (C) 18 (D) 16

(A) To make a wheel .

(B) To domesticate animals 68. (A) wR (B) SFferTsr

(C) To lead a settled life (C) e (D) TEEH

D)/ Toimake fire 69. =fY AFE 3 W 7% HE

(A) ufean s

n g . (B) STl ! Ut
70. ‘Sur !Esteem Rewar.d is provided for ©) S R

special talent of which area ?

| . (D) 3T I AT
(A) Cinema (B) Agriculture
(C) Literary (D) Games
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1.

72

5 years ago, the average age of A, B, C
and D was 45. With E joining them now,
the average age of all the five is 49
years. Howold is E ?

(A) 64 years (B) 45 years

(C) 25 years (D) 40 years

In which district of Haryana has a railway
workshop ?

(A) Gurgaon

(B) Sirsa

(C) Faridabad

(D) Yamuna Nagar

The palaeolithic man lived on
1. Hunting

+ 2. Fishing

3. Cultivation

4. Food-gathering
Choose the correct answer group.

(A) 1,2,3 (B) 1,2, 4
(C) 2,3, 4 (D) 1,3,4

Directions : (Qs. 74-76) : Choose the one
which does not belong to the group of other
three.

74,

75.

76.

7.

(A) East (B) Mouth

(C) South (D) West

(A) Square (B) Rhombus
(C) Triangle (D) Parallelogram
(A) Mother (B) Brother

(C) Father (D) Nephew

In which of the following respects, the
various Harappan sites have marked
uniformity ?

(A) Agricultural practices

(B) Crafts

Field Inspector (Store)

70. ‘W O R R & 3§ fafire i
o ToTQ e forar ST 2 7
GYEREEL (B) i
(C) wifeex (D) ©«

71. s @@ A, B, C 3flt D & sfga a1y 45
off | 379 30 E Tt €T ® 371 39 R0 34
Tl sht SHTEa 3T 49 99 | STt B | E o 3y
et 2 ?

(A) 649 (B) 454
(C) 25 (D) 4099

72. EiEmon & fora el 8 tea wradymg R ?
(A) T
(B) feman
(C) wiemEme
(D) IR

73. qUOTRH} HIST S St fate 3o g o
1. TR
2. HgATR!

3. @t

4. IT-HIR

T I TR A =5 HINT |

(A) 1,2,3 (B) 1,2 4
(C) 2,3,4 (D) 1,3,4

e ¢ (3. 74 | 76) : S i % GgE @ S

CIREAR: (I

74. (A) = (B) 4z
(C) sfegor (D) dfvem

75. (A) =i (B) wH=g™
(C) Tr=mtur (D) WAT=R =S

76. (A) wf (B) g
(C) fuam (D) sreftsm
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78.

79.

80.

(C) Town planning
(D) Seals

Which letter should replace the question
mark in the following series ?

GHJM?V
(A) Q
(B) P
(C) ©
(D) R

Dosi Pilgrim is located in which district ?
(A)
(B) Karnal

(C) Mahendergarh

(D) Bhiwani

Hisar

The largest number of Harappan sites in
post independence India have been
discovered in

(A) Gujarat

(B) Punjab and Haryana
(C) Rajasthan

(D) N.W. Uttar Pradesh
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77. = 8 @ 0 a® @ = ¥ R we §

78.

79.

80.

ERIECIRIERS |Gk
(A) FFTem
CYRE

(C) TR ™A
(D) W

= g # v fome Y s i svaw
BT =1fRT ¢
GHJM?V

A) Q

(B) P

(C) O

(D) R

Freft oftel fre R & feom 2 7
(A) Teawr

(B) =ATA

(C) wE=Tg

(D) Tt

AT % 18 qRA W TSWT 3 Hed 31eren e
PRECIERIDI

(A) T

(B) USIa 3R ghmm

(C) TsEI™

(D) 3. 9. WY



Directions : (Qs. 81-83) : You are required to
rearrange the parts labeled P, Q, Rand S to
produce the correct sentence. Choose the correct
sequence.

81.

82.

83.

Directions (Qs. 84-85) : Choose the word which
is most similar in meaning to the given word :

84.

English Language

| have

P : any fragrance

Q : and more penetrating
R : never come across

S : that is more beautiful
(A) PQRS

(B) SRQP

(C) RQPS

(D) RPSQ

P : come to have a look at the girl

Q : the party that had

R : his eldest sister and a lawyer friend of
theirs

S : consisted of the boy’s parents

(A) QSPR

(B) QPSR

(C) QRSP

(D) QRPS

P : the postman

Q : brings letters

R : relatives and friends
S : from far off

(A) PQRS

(B) PQSR

(C) RSPQ

(D) PRQS

Pardon
(A) Produce
(B) Excuse
(C) Sell
(D) Develop
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85.

86.
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Mandatory
(A) Real
(B) Bravery
(C) Required

(D) Discovery

Plural of “ox” is
(A) oxes

(B) ox

(C) oxen

(D) oxus

Directions (Qs. 87-89) : Find out which part (A),

(B) or (C) of the sentence has an error. If there is

no error, your answer is (D).

87.

88.

89.

90.

The house with all its (A)/furniture and
exotic plants (B)/were sold for Rs. 60
Lakhs. (C)/No error (D).

Many a student (A)/are frustrated
(B)/because of unemployment. (C)/
No error (D).

They walked (A)/besides each other (B)/

in silence. (C)/No error (D).

Choose the alternative which best
expresses the meaning of “RAGE”.
(A) rank

(B) rule

(C) care

(D) anger
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&= s

frdwr (91 3t 92) : wom a1ef ) BTt o Y
fetRa|

91.

92

o (93 3t 94) - 37 foriensieh ve gem forfiag

93.

94.

95.

<z

(A) =t
(B) wiftr
(C) Fgdh
(D) =fse

LISIE

(A) w=m
(B) T
(C) vt
(D) AR

T
(A) Fmr
(B) ¥
(C) Jm
(D) =
L= i

(A) T
(B) 3¢
(C) gudm
(D) WA

1%%%#113%%%
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96.

97.

98.

99.

100.

WE-SEIH_ gumR)
(A) e

(B) ==

(C) =Hur™

(D) wgshfe

T8 TR G TR §

(A) =T A @

(B) T U @rft

(C) T\ A @r

(D) WA TR

= fow m wrat § s wrsg 1 g
ety

(A) MEEd

(B) %wm

(C)

(D) &=

Tl 755 o1 Sgere €9 1 |
(A) wramd

(B) =

(C) wraEi

(D) =

&t forfad yeo g @redt s it |
Wed_ St |

(A) =1

(B) =

(C)

(D)
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